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SECTION-A 

ननम्नमरखित प्रश्न सॊख्मण 1 से 50 तक के प्रत्मेक प्रश्न के सणथ चणय विकल्ऩ ददए गए 
हैं, जिनभें से एक सही है। अऩने द्िणयण चनेु गए सही विकल्ऩ को OMR सीट ऩय 
चचजननत कयें। 

1. अथथशणस्त्र की विषम िस्त्तु कण अध्ममन ककन शणिणओॊ के अन्तगथत ककमण िणतण यहण 
है?  

(a) व्मजटट अथथशणस्त्र 

(b) सभजटट अथथशणस्त्र 

(c) उऩयोक्त दोनों 

(d) उऩयोक्त भें से कोई नहीॊ  

 

2. सणधनों के स्त्िणमभत्ि के आधणय ऩय अथथव्मिस्त्थणएॉ होती हैं 

(a) केन्रीकृत मोिनणफद्ध अथथव्मिस्त्थण 

(b) फणिणय अथथव्मिस्त्थण  

(c) मभचित अथथव्मिस्त्थण 

(d) उऩयोक्त सबी 
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3. अथथव्मिस्त्थण की केन्रीम सभस्त्मणमें कौन-सी है ? 

(a) सणधनों कण आिॊटन 

(b) सणधनों कण कुशरतभ उऩमोग  

(c) आचथथक विकणस 

(d) उऩयोक्त सबी 

 

4. सभजटट अथथशणस्त्र अध्ममन कयतण है।  

(a) ऩणूथ योिगणय 

(b) सभग्र कीभत स्त्तय 

(c) सकर यणटरीम उत्ऩणद 

(d) उऩयोक्त सबी 

 

5. फिट सेट के मरए आिश्मक है। 

(a) फॊडरों कण सॊग्रह 

(b) विद्मभणन फणिणय कीभत 

(c) उऩबोक्तण की कुर आम  

(d) उऩयोक्त सबी 

 

6. ह्रणसभणन विस्त्थणऩन दय भें 

(a) िस्त्तु 1 की अचधक भणरण 

(b) िस्त्तु 2 की कभ भणरण 

(c) िस्त्तु 1 एिॊ 2 दोनों की अचधक भणरण  

(d) (a) औय (b) दोनों 
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7. उऩबोक्तण व्मिहणय कण अध्ममन ककमण िणतण है 

(a) सकू्ष्भ अथथशणस्त्र भें 

(b) व्मणऩक अथथशणस्त्र भें  

(c) आम मसद्धणन्त भें 

(d) उऩयोक्त भें से कोई नहीॊ 

 

8. फिट येिण कण ढणर होतण है। 

(a) − Px

Py
 

(b) − Py

Px
 

(c) +
Py

Px
 

(d) उऩयोक्त भें से कोई नहीॊ 

 

9. उदणसीनतण िक्र होतण है 

(a) भरू बफन्द ुकी ओय अिनतोदय  

(b) भरू बफन्द ुकी ओय उन्नतोदय 

(c) उऩयोक्त दोनों सत्म 

(d) उऩयोक्त दोनों असत्म 

 

10. भणॉग िक्र की ढणर होती है।  

(a) फणमें से दणमें नीच ेकी ओय 

(b) फणमें से दणमें ऊऩय की ओय 

(c) x अऺ के सभणनणन्तय 

(d) उऩयोक्त भें से कोई नहीॊ  
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11. भणॉग परन को ननम्नणॊककत भें से कौन-सण सभीकयण व्मक्त कयतण है? 

(a) Px 

(b) Dx = Px 

(c) Dr = f (Px) 

(d) उऩयोक्त भें से कोई नहीॊ  
 

12. अल्ऩकणरीन उत्ऩणदन परन की व्मणख्मण ननम्न भें ककस ननमभ के द्िणयण की िणती 
है ? 

(a) भणॊग के ननमभ के द्िणयण  

(b) ऩरयितथनशीर अनऩुणत के ननमभ के द्िणयण 

(c) ऩभैणने के प्रनतपर ननमभ के द्िणयण 

(d) भणॉग की रोच द्िणयण 
 

13. ननम्न भें से सही अॊककत कीजिए 

(a) TVC = TC - TFC 

(b) TC = TVC - TFC 

(c) TFC = TVC + TC  

(d) TC = TVC x TFC 
 

14. MR प्रदमशथत ककमण िणतण है 

(a) ∆𝑇𝑅
∆𝑄 

 

(b) 𝑇𝑅
𝑄 
 

(c) ∆𝐴𝑅
𝑄 

 

(d) इनभें से कोई नहीॊ 
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15. एकणचधकणय एिॊ एकणचधकणयी प्रनतमोचगतण भें होतण है 

(a) AR = MR 

(b) AR > MR  

(c) AR < MR 

(d) उऩयोक्त भें से कोई नहीॊ 
 

16. प्रत्मेक फणिणय दशण भें एक पभथ के सन्तुरन के मरए कौन-सी शतथ ऩयूी होनी 
आिश्मक है ?  

(a) AR = MC  

(b) MR = MC 

(c) MC िक्र MR िक्र को नीच ेसे कणटे  

(d) (b) औय (c) दोनों  
 

17. ननम्न भें से कौन-सण कथन सही है? 

(a) िस्त्तु की कीभत एिॊ उसकी ऩनूतथ के फीच सीधण सम्फन्ध होतण है 

(b) ऩनूतथ िक्र फणमें से दणमें ऊऩय की ओय उठतण है  

(c) ऩनूतथ को अनेक तत्ि प्रबणवित कयते हैं 

(d) उऩयोक्त सबी 
 

18. मदद िस्त्तु की कीभत भें 40% की िदृ्चध हो ऩयन्तु ऩनूतथ भें केिर 15% की िदृ्चध 
हो, ऐसी िस्त्तु की ऩनूतथ होगी  

(a) अत्मचधक रोचदणय 

(b) रोचदणय 

(c) फेरोचदणय 

(d) ऩणूथत् फेरोचदणय 
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19. सॊतुरन की जस्त्थनत भें 

(a) विक्रम की कुर भणरण ियीदी िणने िणरी भणरण के फयणफय  

(b) फणिणय ऩनूतथ फणिणय भणॉग के फयणफय  

(c) न ही पभथ औय न उऩबोक्तण विचमरत होनण चणहते हैं  

(d) उऩयोक्त सबी 

 

20. प्रत्मेक पभथ िभ कण उऩमोग उस बफन्द ुतक कयती है  

(a) िहणॉ भ्रभ की सीभणन्त उत्ऩणदकतण भिदयूी दय के फयणफय होती है  

(b) िहणॉ िभ की सीभणन्त उत्ऩणदकतण भिदयूी दय से कभ होती है। 

(c) िहणॉ िभ की सीभणन्त उत्ऩणदकतण भिदयूी दय से अचधक होती है  

(d) उऩयोक्त भें से कोई नहीॊ 

 

21. ककस फणिणय भें उत्ऩणद विबेद ऩणमण िणतण है ? 

(a) शदु्ध प्रनतमोचगतण  

(b) ऩणूथ प्रनतमोचगतण  

(c) एकणचधकणय 

(d) एकणचधकणयी प्रनतमोचगतण 

 

22. सयकणय द्िणयण "उच्चतभ ननधणथरयत कीभत” तम की िणती है 

(a) आिश्मक िस्त्तुओॊ ऩय 

(b) िो फणिणय ननधणथरयत कीभत से कभ होती है 

(c) सणभणन्म रोगों की ऩहुॉच के अन्दय रणनण  

(d) उऩयोक्त सबी 
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23. कीभत उस बफन्द ुऩय ननधणथरयत होती है िहणॉ 

(a) िस्त्तु की भणॉग अचधक हो  

(b) िस्त्तु की ऩनूतथ अचधक हो  

(c) िस्त्तु की भणॉग औय िस्त्तु की ऩनूतथ फयणफय हो 

(d) इनभें से कोई नहीॊ  

 

24. फणिणय भलू्म ऩणमण िणतण है। 

(a) अल्ऩकणरीन फणिणय भें 

(b) दीघथकणरीन फणिणय भें 

(c) अनत दीघथ कणरीन फणिणय भें  

(d) उऩयोक्त भें से कोई नहीॊ 

 

25. बिदटश अथथशणस्त्री िॉन भेनणडथ केन्स की प्रमसद्ध ऩसु्त्तक "द िनयर थ्मोयी" ककस 
िषथ प्रकणमशत हुई ?  

(a) 1926 

(b) 1936 

(c) 1946 

(d) 1956 

 

26. भहणभॊदी ककस िषथ आई थी ?  

(a) 1949  

(b) 1939 

(c) 1929 

(d) 1919 
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27. सभजटट अथथशणस्त्र अथथव्मिस्त्थण को ककन ऺेरकों के सॊमोग के रूऩ भें देितण है ? 

(a) ऩरयिणय 

(b) पभथ 

(c) सयकणय औय फणनम ऺेरक 

(d) उऩयोक्त सबी 

 

28. GNPMP = ?  

(a) GDPMP - नघसणिट 

(b) GDPMP + विदेशों से शदु्ध घटक आम  

(c) उऩयोक्त दोनों 

(d) उऩयोक्त भें से कोई नहीॊ  

 

29. भरुण विकणस कण सही अनकु्रभ कौन-सण है ?  

(a) िस्त्तु भरुण, ऩर भरुण, धणतु भरुण 

(b) िस्त्तु भरुण, धणतु भरुण, ऩर भरुण 

(c) सणि भरुण, धणतु भरुण, ऩर भरुण  

(d) इनभें से कोई नहीॊ 

 

30. रयििथ फैंक ने भरुण के चणय भणऩ ददए हैं िो कक M1, M2, M3 औय M4 हैं M1 भें 
शणमभर हैं।  

(a) C = िनतण के ऩणस कयेंसी 

(b) DD = फैंकों द्िणयण शदु्ध भणॉग िभण 

(c) OD = रयििथ फैंक के ऩणस अन्म िभण  

(d) उऩयोक्त सबी 

bsebresult.in



 

31. सणभणन्म आदभी कण फैंक कौन-सण है ? 

(a) व्मणऩणरयक फैंक 

(b) केन्रीम फैंक 

(c) (a) औय (b) दोनों  

(d) इनभें से कोई नहीॊ 

 

32. सणि गुणक होतण है 

(a) 1

CRR  
  

(b) नगद x 1

CRR  
 

(c) नगद x CRR 

(d) उऩयोक्त भें से कोई नहीॊ 

 

33. केन्रीम फैंक के ननम्न भें कौन-से कणमथ है? 

(a) नोट ननगभथन कण अचधकणय 

(b) सयकणय कण फैंकय 

(c) विदेशी विननभम कोषों कण सॊयऺक  

(d) उऩयोक्त सबी  

 

34. देश के केन्रीम फैंक द्िणयण कौन-सी भरुण िणयी की िणती है ? 

(a) चरन भरुण 

(b) सणि भरुण 

(c) मसक्के 

(d) उऩयोक्त सबी 
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35. एक िुरी अथथव्मिस्त्थण भें सणभदूहक भणॉग के सॊघटक कौन है ? 

(a) उऩबोग 

(b) ननिेश 

(c) उऩबोग सयकणयी व्मम 

(d) उऩबोग + ननिेश + सयकणयी व्मम + शदु्ध ननमणथत  

 

36. APC + APS = ? 

(a) 0 

(b) I 

(c) अनन्त 

(d) उऩयोक्त भें से कोई नहीॊ 

 

37. अत्मचधक भणॉग होने के ननम्न भें कौन-से कणयण हैं?  

(a) सणिथिननक व्मम भें िदृ्चध 

(b) भरुण की ऩनूतथ भें िदृ्चध 

(c) कयों भें कभी 

(d) उऩयोक्त सबी 

 

38. बणयत कण वित्तीम िषथ है  

(a) 1 अप्ररै से 31 भणचथ 

(b) 1 िनियी से 31 भणचथ  

(c) 1 िुरणई से 30 िून 

(d) उऩयोक्त भें से कोई नहीॊ 
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39. प्रत्मऺ कय के अन्तगथत ननम्न भें से ककसे शणमभर ककमण िणतण है ? 

(a) आम कय 

(b) उऩहणय कय 

(c) (a) औय (b) दोनों 

(d) उऩयोक्त भें से कोई नहीॊ 

 

40. बणयत भें एक रुऩमण कण नोट कौन िणयी कयतण है ? 

(a) बणयतीम रयििथ फैंक  

(b) बणयत सयकणय कण वित्त भॊरणरम 

(c) बणयतीम स्त्टेट फैंक 

(d) उऩयोक्त भें से कोई नहीॊ 

 

41. ऩूॉिी फिट शणमभर कयतण है 

(a) यणिस्त्ि प्रणजततमणॉ तथण यणिस्त्ि व्मम  

(b) ऩूॉिीगत प्रणजततमणॉ तथण ऩूॉिीगत व्मम 

(c) प्रत्मऺ तथण अप्रत्मऺ कय  

(d) उऩयोक्त भें से कोई नहीॊ 

 

42. प्रणथमभक घणटण होतण है 

(a) वित्तीम घणटण – ब्मणि बगुतणन  

(b) वित्तीम घणटण + ब्मणि बगुतणन  

(c) (a, औय (b) दोनों 

(d) उऩयोक्त भें से कोई नहीॊ 
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43. फिट ननम्नणॊककत प्रकणय के होते हैं 

(a) सॊतुमरत फिट  

(b) फचत कण फिट  

(c) घणटे कण फिट  

(d) उऩयोक्त सबी  

 

44. विननभम दय के कौन-से प्रकणय हैं? 

(a) जस्त्थय विननभम दय  

(b) रोचऩणूथ विननभम दय 

(c) (a) औय (b) दोनों 

(d) उऩयोक्त भें से कोई नहीॊ 

 

45. िेटन िडु्स प्रणणरी के सभम अचधकणॊश देशों भें थण  

(a) जस्त्थय विननभम दय 

(b) अचधकीमरत विननभम दय  

(c) (a) औय (b) दोनों 

(d) उऩयोक्त भें से कोई नहीॊ 

 

46. जस्त्थय विननभम दय के कौन-से गुण हैं ? 

(a) ऩूॉिी की गनतशीरतण को फढणिण 

(b) ऩूॉिी को फणहय िणने से योकनण 

(c) सट्टेफणिी को योकनण 

(d) उऩयोक्त सबी 

bsebresult.in



 

47. 1944 के िेटन िडु्स सम्भेरन के द्िणयण स्त्थणऩनण हुई 

(a) अन्तयणथटरीम भरुण कोष  

(b) विश्ि फैंक 

(c) (a) औय (b) दोनों  

(d) उऩयोक्त भें से कोई नहीॊ 

 

48. रोचऩणूथ विननभम दय के दोष हैं 

(a) अजस्त्थयतण तथण अननजश्चततण 

(b) सट्टेफणिी कण प्रोत्सणहन 

(c) अन्तयणथटरीम व्मणऩणय तथण ननिेश को ननरुत्सणहन 

(d) उऩयोक्त सबी 

 

49. व्मणऩणय शषे = ? 

(a) दृश्म भदों कण ननमणथत - दृश्म भदों कण आमणत  

(b) दृश्म तथण अदृश्म भदों कण ननमणथत- दृश्म तथण अदृश्म भदों कण आमणत 

(c) दृश्म भदों कण आमणत - दृश्म भदों कण ननमणथत  

(d) इनभें से कोई नहीॊ 

 

50. बगुतणन शषे के घटक है 

(a) चणर ूिणतण 

(b) ऩूॉिी िणतण  

(c) (a) औय (b) दोनों 

(d) उऩयोक्त भें से कोई नहीॊ 
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SECTION - B 

प्रश्न सॊख्मण 1 से 22 तक रघ ुउत्तयीम हैं। ककन्हीॊ 15 प्रश्नों के उत्तय दें प्रत्मेक के मरए 
2 अॊक ननधणथरयत हैं। 

1. उऩबोक्तण सॊतुरन कण क्मण अथथ है? इसकी भणन्मतणमें मरिें।  

2. भणॉग तणमरकण की सहणमतण से भणॉग के ननमभ की व्मणख्मण कयें। 
3. ऩणूथतमण रोचदणय तथण ऩणूथतमण फेरोचदणय भणॉग कण अथथ मरिें।  

4. भणॉग की रोच को प्रबणवित कयने िणरे तत्िों को मरिें। 

5. सीभणन्त उत्ऩणदन तथण औसत उत्ऩणदन के सम्फन्ध को फतणमें।  

6. अिसय रणगत की अिधणयणण को स्त्ऩटट कयें। 

7. अल्ऩकणरीन औसत रणगत की येिण "U" आकणय की क्मों होती है ? सॊऺेऩ भें मरिें।  

8. कुर आगभ, औसत आगभ तथण सीभणन्त आगभ से क्मण तणत्ऩमथ है ? 

9. ऩणूथ प्रनतमोगी फणिणय की तीन विशषेतणमें मरिें।  
10. एकणचधकणय तथण एकणचधकणयणत्भक प्रनतमोचगतण भें क्मण अन्तय है ? 
11. सन्तुरन कीभत तथण सन्तुरन भणरण से क्मण तणत्ऩमथ है ? 
12. यणटरीम आम तथण घयेर ूआम भें अन्तय स्त्ऩटट कयें।   
13. ननिी आम से क्मण अमबप्रणम है? ननिी आम तथण िमैजक्तक आम भें क्मण अॊतय है? 
14. सणधन आम को ककतने बणगों भें फणॉटण िणतण है ? 
15. आम विचध से सम्फजन्धत सणिधणननमणॊ कौन सी हैं ? 
16. यणटरीम आम को व्मम विचध से कैसे भणऩण िणतण है ? 
17. िस्त्तु विननभम प्रणणरी के प्रभिु दोष कौन से हैं? भरुण इन दोषों को दयू कयने भें 
ककस प्रकणय सहणमक होती है ? 
18. व्मणऩणरयक फैंक के प्रभिु कणमों को मरिें।  
19. अऩणूथ योिगणय तथण अनत ऩणूथ योिगणय सन्तुरन से क्मण अमबप्रणम है ? 
20. ननिेश गुणक तथण सीभणन्त उऩबोग प्रिवृत्त के सम्फन्ध की व्मणख्मण कीजिए। 
21. भौदरक नीनत के भखु्म उऩणमों के नणभ मरिें। 
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22. सयकणयी फिट से क्मण अमबप्रणम है? सयकणयी फिट को भखु्म विशषेतणमें क्मण हैं?  
 

प्रश्न संख्या 23 से 26 दीर्ि उत्तरीय हैं। सभी प्रश्नों के उत्तर दें। प्रत्येक प्रश्न के लऱए 
पााँच अंक ननर्ािररत हैं। 

23. भणॉग के ननमभ की येिणचचर द्िणयण व्मणख्मण कीजिए। ककसी िस्त्तु की भणॉग को 
प्रबणवित कयने िणरे ऩणॉच तत्िों कण िणथन कयें।  

अथिण 

भणॉग की कीभत रोच से आऩ क्मण सभझते हैं? इसे कैसे भणऩण िणतण है ? 
 

24. ऩभैणने के प्रनतपर से क्मण अमबप्रणम है? उऩमकु्त येिणचचर कण प्रमोग कयते हुए 
ऩभैणने के प्रनतपर की फढती सभणन तथण घटती धणयणणओॊ की व्मणख्मण कयें।  

अथिण 

उत्ऩणदन रणगत के विमबन्न प्रकणयों कण िणथन कयें। औसत रणगत तथण सीभणन्त रणगत के 
ऩयस्त्ऩय सम्फन्धों की व्मणख्मण कयें। 
 

25. उऩमकु्त उदणहयण की सहणमतण से यणटरीम आम भणऩने की भलू्म िदृ्चध विचध कण 
िणथन कयें  

अथिण 

दोहयी गणनण की सभस्त्मण से क्मण अमबप्रणम है? इस सभस्त्मण से कैसे फचण िण सकतण है 
? उदणहयण स्त्ऩटट कयें।  
 

26. ननिेश गुणक की ऩरयबणषण दें। ननिेश गुणक तथण उऩबोग की सीभणन्त प्रिवृत्त भें 
क्मण सम्फन्ध है? 

अथिण 

अत्मचधक भणॊग क्मण है ? इसे ककस प्रकणय ननमॊबरत ककमण िण सकतण है? 
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BIHAR BOARD QUESTION PAPER  

INTERMEDIATE EXAMINATION - 2018 
इंटरमीडिएट परीऺा - 2018 

(ANNUAL / वार्षिक)  

BUSINESS ECONOMICS  
Time: 3 Hours 15 Minutes]             [Full Marks: 100 

SECTION-A 

Question No. 1 to 50 have four options, out of which only one is correct. You have to 

mark, your selected option, on the OMR Sheet. 

 

1. The subject matter of economics is being studied under which branches  

(a) Micro Economic 

(b) Macro Economics 

(c) Above two 

(d) None of the above 

 

2. On the basis of the ownership of the resources, economies are 

(a) Centrally planned economy  

(b) Market economy 

(c) Mixed economy 

(d) All of the above 

 

3. Which are the central problems of an economy? 

(a) Allocation of resources 

(b) Best use of resources  

(c) Economic development 

(d) All of the above 
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4. Macro Economics studies  

(a) Full employment 

(b) Aggregate price level  

(c) Gross National Product 

(d) All of the above 

 

5. This is required for a budget set 

(a) Collection of bundles  

(b) Prevailing market price  

(c) Total income of the consumer 

(d) All of the above 

 

6. In diminishing rate of substitution 

(a) more of goods 1 

(b) less of goods 2  

(c) more of both 1 and 2 

(d) (a) and (b) both 

 

7. Consumer behaviour is studied in 

(a) Micro Economics 

(b) Macro Economics 

(c) Income theory 

(d) None of the above 

 

8. Slope of the budget line is 

(a) -
𝑃𝑥

𝑃𝑦
 

(b) - 
𝑃𝑦

𝑃𝑥
 

(c) + 
𝑃𝑦

𝑃𝑥
 

(d) None of the above 
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9. Indifference curve is 

(a) Concave to the origin 

(b) convex to the origin  

(c) Both the above true 

(d) Both the above false 

 

10. The slope of the demand curve is 

(a) left to right downward  

(b) left to right upward 

(c) parallel to x-axis 

(d) None of the above 

 

11. Demand function is expressed by which equation?  

(a) Px 

(b) Dx = Px 

(c) Dx = f(Px) 

(d) None of the above 

 

12. Short run production function is explained by which law? 

(a) By the law of demand  

(b) By law of variable proportions 

(c) By law of returns to scale 

(d) By elasticity of demand 

 

13. Tick the correct in the following 

(a) TVC = TC - TFC 

(b) TC = TVC - TFC 

(c) TFC = TVC + TC 

(d) TC = TVC × TFC 
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14. MR is expressed as 

(a) 
∆𝑇𝑅

∆𝑄
 

(b) 
𝑇𝑅

𝑄
 

(c) 
∆𝐴𝑅

𝑄
 

(d) None of the above 

 

15. In monopoly and monopolistic condition 

(a) AR = MR 

(b) AR > MR 

(c) AR < MR 

(d) None of the above  

 

16. In every market situation which condition is necessary to be fulfilled for a  firm's 

equilibium? 

(a) AR = MC 

(b) MR = MC 

(c) MC curve should cut the MR curve from below 

(d) (b) and (c) both  

 

17. Which of the following statement is true? 

(a) There is direct relationship between the price of a commodity and its Supply 

(b) Supply curve moves left to right upword  

(c) Supply is affected by many factors 

(d) All of the above 

 

18. If the price of a commodity rises by 40% but the supply increases by only 15% 

supply of such commodity would be 

(a) Excessive elastic 

(b) Elastic  

(c) Inelastic 

(d) Completely inelastic 
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19. In equlibrium position 

(a) The amount to be sold is equal to the amount to be purchased 

(b) Market supply is equal to market demand 

(c) Neither the firm nor the consumer wants to be destabilised 

(d) All of the above 

 

20. Every firm uses labour up to the point 

(a) Where labour's marginal productivity is equal to the wage rate 

(b) Where labour's marginal productivity is less than the wage rate  

(c) Where labour's marginal productivity is more than the wage rate 

(d) None of the above  

 

21. In which market product differentiation is found? 

(a) Pure competition 

(b) Perfect competition 

(c) Monopoly 

(d) Monopolistic competition 

 

22. Government decides "Price ceiling" 

(a) On necessary goods 

(b) Which is less than the price decided by market 

(c) To make it affordable to the common man 

(d) All of the above 

 

23. Price is determined at the point, where 

(a) Demand of the commodity is high 

(b) Supply of the commodity is high 

(c) Demand of the commodity and supply of the commodity is equal  

(d) None of the above 
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24. Market price is found in  

(a) Short period market 

(b) Long period market 

(c) Very long period market  

(d) none of the above 

 

25. British economist John Maynard Keynes famous book "The General Theory" was 

published in which year? 

(a) 1926 

(b) 1936 

(c) 1946 

(d) 1956 

 

26. The great Depression came in which year? 

(a) 1949 

(b) 1939 

(c) 1929 

(d) 1919 

 

27. Macro economics sees an economy as a combination of which sectors? 

(a) Family 

(b) Firm 

(c) Government and external sector 

(d) All of the above 

 

28. GNPMP = ? 

(a) GDPMP - Depreciation 

(b) GDPMP +net factor income from abroad 

(c) Both of the above 

(d) None of the above 
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29. Which is the correct sequence of money's development? 

(a) Commodity money, Paper money, Metal money  

(b) Commodity money, Metal money, Paper money 

(c) Credit money, Metal money, Paper money 

(d) None of the above  

 

30. Reserve Bank of India has presented four measures of money supply namely M1, M2, 

M3, and M4, M1, includes 

(a) C = currency held by public 

(b) DD = net demand deposit of the bank 

(c) OD = other deposits held with the RBI 

(d) All of the above 

 

31. Which is common man's bank? 

(a) Commercial Bank 

(b) Central Bank 

(c) (a) and (b) both  

(d) None of the above 

 

32. Credit multiplier is 

(a) 
1

𝐶𝑅𝑅
 

(b) Cash ×
1

𝐶𝑅𝑅
 

(c) Cash × CRR 

(d) None of the above 

 

33. Which of the following is Central Bank's function?  

(a) Right of issuing notes 

(b) Government's banker 

(c) Custodian of Foreign Exchange Reserves 

(d) All of the above  
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34. Which currency is issued by Central Bank of the country? 

(a) Money in circulation 

(b) Credit money 

(c) Coins 

(d) All of the above 

 

35. In an open economy which are the components of Aggregate Demand? 

(a) Consumption 

(b) Investment 

(c) Consumption + Government expenditure 

(d) Consumption + Investment + Govt. expenditure + Net export  

 

36. APC + APS = 

(a) 0 

(b) 1 

(c) infinity 

(d) None of the above 

 

37. What are the reasons of excess demand?  

(a) Increase in public expenditure  

(b) Increase in money supply 

(c) Decrease in taxes 

(d) All of the above 

 

38. Indian's financial year is 

 (a) 1
st
 April to 31

st
 March 

(b) 1
st
 January to 31

st
 March  

(c) 1
st
 July to 30

th
 June 

(d) None of the above 
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39. In direct taxes which one of the following is included?  

(a) Income Tax 

(b) Gift Tax 

(c) (a) and (b) both  

(d) None of the above 

 

40. In India who issues one rupee note? 

(a) Reserve Bank of India  

(b) Finance Ministry of Govt. of India  

(c) State Bank of India 

(d) None of the above 

 

41. Capital Budget includes 

(a) Revenue recepits and revenue expenditure 

(b) Capital receipts and capital expenditure  

(c) Direct and Indirect taxes  

(d) None of the above 

 

42. Primary deficit is  

(a) Fiscal Deficit - Interest Payment 

(b) Fiscal Deficit + Interest Payment 

(c) (a) and (b) both  

(d) None of the above 

 

43. Budgets are of the following types 

(a) Balance Budget 

(b) Surplus budget 

(c) Deficit Budget 

(d) All of the above 
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44. Exchange rate is of the following types 

(a) Fixed exchange rate 

(b) Flexible exchange rate 

(c) (a) and (b) both 

(d) None of the above 

 

45. During Bretton Woods System most countries had 

(a) Fixed Exchange Rate  

(b) Pegged Exchange rate 

(c) (a) and (b) both 

(d) None of the above 

 

46. Fixed exchange rate has following merits 

(a) Promotes Capital movements  

(b) Prevents capital outflow 

(c) Precents speculation  

(d) All the above 

 

47. Bretton Woods Conference of 1944 established 

(a) International Monetary Fund  

(b) World Bank 

(c) (a) and (b) both  

(d) None of the above 

 

48. Demerits of flexible exchange rate are 

(a) Instability and uncertainty  

(b) Encourages speculation 

(c) Discourage international trade and investment 

(d) All of the above  
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49. Balance of Trade = ? 

(a) Export of visible items - Import of visible item 

(b) Export is visible and invisible items Import of visible and invisible items 

(c) Import of visible items - Export of visible items. 

(d) None of these 

 

50. Components of Balance of Payments is 

(a) Current Account 

(b) Capital Account 

(c) (a) and (b) both  

(d) None of the above 

 

SECTION-B 

Question No 1 to 22 are short answer type. Answer any 15 Question Each question 

carries 2 Marks. 

1. What do you mean by consumer's equilibrium? State its assumption.  

2. Explain the law of demand with the help of demand schedule.  

3. Write the meaning of perfectly elastic demand and perfectly inelastic demand. 

4. Write the factors effecting elasticity of demand. 

5. State the relation between Marginal Production and Average Production. 

6. Clarify the concept of opporunity cost. 

7. Why short run average cost curve is to "U" shaped ? Write briefly. 

8. What to you mean by Total Revenue, Average Revenue and Marginal Revenue? 

9. Write the three characteristics of perfect competitive market.  

10. What is the difference between monopoly and monopolistic competition?  

11. What is meant by equilibrium price and equilibrium quantity ? 

12. Differentiate between national income and domestic income. 
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13. What is meant by private income? What is the difference between private income and 

personal income? 

14. Factor income is divided into how many classes? 

15. What are the precautions related to the calculation of income method?  

16. How national income is calculated by expenditure method?  

17. What are the main demerits of barter system? How money is helpful in removing 

these demerits?  

18. Write the important functions of Commercial Banks. 
 

19. What is meant by under employment equilibrium and over full employment 

equilibrium?
 

20. Explain the relationship between investment multiplier and marginal propensity to 

consume.
 

21. Write the names of main measures of monetary policy. 
 

22. What do you mean by government budget? What are the main charcteristics of 

government budget?
 

 

Question No. 23 to 26 are long answer type. All questions are compulsory. Each question 

carries 5 Marks.  

23. Explain the law of demand with the help of a diagram. Explain any five factors 

affecting the demand of a commodity.  

Or
 

What do you understand by price elasticity of demand? How is it measured?
 

 

24. What is meant by returns to scale? Using a suitable diagram, explain the  concepts of 

increasing, constant and diminishing returns to scale.  

Or 

Describe the various types of production cost. Explain the mutual relation between 

Average Cost and Marginal Cost.  
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25. Explain the value added method of estimating national income with the help of a 

suitable example.  

Or 

What do you mean by double counting problem? How can it be avoided? Expain with an 

illustration.  

 

26. Define investment multilier. What is the relationship between investment multiplier 

and marginal propensity of consume?  

Or 

What is excess demand? How can it do controlled ? 

 

 

 

******** 
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